HF

BOR &, X
[ 2 I:Flé};ﬁﬁi% _& L&Eﬁ

bk TU

REMER

HEESEE

o EARE: 600I/min (36 m¥h)
© BRI 39m HEE BT BEIR . A SR SR T e
HIBE , 4950, STRAAHA K, R C S RE R EEE T
FIROERAB .

BARE: 7m
NEREE: -10°C~+90°C
INEIRE: +40°C
BARTIEES:

iEREH
[ ]

. KRN HLREE NG, REDBRBEEESHRST.
[ ]

[ ]

-6 bar (HF5-50-51)
-10 bar ( HF 5M-70)
° RFETAE S

SHanReRE

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEl 61-150 CEI2-3

EU REGULATION N. 547/2012

IAE

PR AL (DNV) ETRIRZINIIE
FRE: 1509001

RE5%%L: 15014001

Ce

L &

A i%

o AR £
HERBE60 HZHRER

o [P X5PTPELR IEFHF 5M-70



S PEDROUO
4

the spring of life

HEIHEMSRR 50Hz n=2900rpm HS=0m
0 50 ‘ 100 ‘ 150 _ Usgpm.
0 59 190 Imp g.p.m.
40 b - feet
HF70A 125
35 -
HF70B I
30 -100
- HF70C Lot I
X, ~
r ® -
il 75
+§ HF5AM i
HF51A
= 20 |
g HF5BM |
b HF51B n=72% i
E
+ 15 HF5A n=63% %0
S HF5B i
S HF50A F5C S, ~ i
- 10 HF508 \ = 74% i
n=67% -
25
5 B
0 MEI= 0.40 i
0
0 50 100 150 200 250 300 350 400 450 500 550 600 I/min
(\) T T T é T T T T 1\0 T T T T 1\5 T T T T 2\0 T T T T 2\5 T T T T 3\0 T T T T 3\5 T T ‘m3/h‘
Flow rate QiE=Q »
Bs IN=E (P2) m¥h | 0 3 6 9 12 15 18 21 24 30 36
B =t kw HP  a I/min | 0 50 100 | 150 200 250 300 350 @ 400 500 600
HFm 50B HF 50B 0.37  0.50 10 10 | 95 85 75 6 4
IE2
HFm 50A HF 50A 0.55 | 0.75 12 2 M5 N 926 8 6
HFm 51B HF 51B 0.60 @ 0.85 182 | 172 | 16 14 | 15 9 5.4
IE2
HFm 51A HF 51A 0.75 1 212 202 19 17 | 145 116 84
HFm 70C HF 70C 1.1 1.5 |IE2 29 28 265 245 22 | 185 15
HFm 70B HF 70B 1.5 2 33 32 305 | 285 26 | 225 19
IE3 | H metres
- HF 70A 2.2 3 39 38 365 345 32 | 285 25
HFm 5C HF 5C 0.55 | 0.75 12,5 - 2 M7 n o 102 92 8 6.5
HFm 5B HF 5B 0.75 1 |IE2 137 | - 132 13 125 116 105 92 8 5
HFm 5A HF 5A 1.1 1.5 145 | - 138 | 135 132 126 | 118 105 | 92 | 65 3
HFm 5BM HF 5BM 1.1 1.5 |IE2 19 = 185 | 18 17 16 | 152 14 | 128 97 6
HFm 5AM HF 5AM 1.5 2 IE3 22 - 215 21 205 | 198 19 18 | 168 138 | 10

Q=78 H=#i2 HS=IK2
A =ERBHAEERAI(EC-60034-30)

BHERASE N 15 A EN1SO 9906 3BZR.



Hik &S Z1A%FE
1 RBR ESTE 1SO 228/1184x3EN
2 REGRS AISI 30445580 ( HF 5M-709558K)
3 Mg =i
4 EEHEE EN 10088-3 - 1.41044%E5N
5 iz £~ & o ME
®E e BH? E:278 HE B
HF 50 AR-12 212 mm MgE Az NBR
HF 5-51 AR-14 @14 mm [ a= NBR
HF 5M-70 FN-18 @18 mm a3 & NBR
6 HhiE = BE
HF 50 62012ZZ/62012Z
HF 5-51 6203 ZZ /6203 ZZ
HF 5M-70 6204ZZ/62042Z
7 HR £~ BE
y--F2 (230V or 240V) (110V)
HFm 50B 10 uF - 450 VL 25 pF - 250 VL
HFm 50A 14 uF - 450 VL 25 uF-250VL
HFm 51B 20 uF - 450 VL 60 uF -300VL
HFm 51A 20 uF-450VL 60 uF -300VL
HFm 70C 25 uF-450 VL 60 uF - 250 VL
HFm 70B 45 uF - 450 VL 60 uF - 250 VL
HFm 5C 16 uF - 450 VL 60 uF -300VL
HFm 5B 20 uF-450 VL 60 uF -300VL
HFm 5A 25 uF-450 VL 60 uF -300VL
HFm 5BM 25 pF-450 VL 60 uF - 250 VL
HFm 5AM 45 uF - 450 VL 80 uF - 250 VL
8 H# HFm: EE4E230V - 50 Hz LA BT BYRF

HF: =%H 230/400V - 50 Hz
w =HEKREEBL =B

P2=1.1kW L9 IE2 B34/l P2=1.5kW LA _JJIE3 (IEC 60034-30)EE 4

- BIBER: FR
- BHIPEEL: IP X4




S PEDROUO
-

the spring of life
R-~TfEE
f n
<
Bs a& R~ mm kg

B8 = DN1 | DN2 a f h h h2 n n1 w s T~ 3~
HFm 50B HF 50B 8.3 7.8
—. HF 50A 42 265 200 82 18 166 135 -3 02 o5
HFm 51B HF 51B 10 129 | 1.9
HFm 51A HF 51A 1% | 1% ® 300 22 % 133 190 160 ¢ 13.0 12,0
HFm 70C HF 70C 19.0 18.6
HFm 70B HF 70B 48.5 373 269 114 155 216 171 12 12 21.8 205
- HF 70A - 21.9
HFm 5C HF 5C 14.5  13.3
HFm 5B HF 5B 43 316 238 97 141 192 -68 10 14.5 | 13.3
HFm 5A HF 5A 2" 2" 160 153 149
HFm 5BM HF 5BM 20.1 19.2
HFm SAM HE SAM 59 386 260 110 150 208 12.5 n 515 | 208
LD
Bs BE Bs BE
==Fo 230V 240V 110V = 230V | 400V | 690V = 240V | 415V 720V
HFm 50B 2.8A 2.6A 5.6 A HF 508 21A  12A | 07A  20A 11A | 0.6A
HFm 50A 3.5A 3.4A 7.6 A HF 50A 3.0A 1.7A 1.0A 29A 1.6 A 09A
HEm 51B 47 A 4.6 A 0.2 A HF 51B 36A 21A | 1.2A  3.5A  20A  11A
HFm 51A 5.6A 53A 1.2A HF 51A 44A  25A 15A | 40A 23A  13A
HEm 70C 8.0A 76 A 16.0 A HF 70C 57A  33A  19A 55A 32A | 1.8A
HFm 708 10.0A 0.0A 20.0 A HF 70B 74A | 43A 25A | 71A  41A  24A

HF 70A 9.5A 55A | 3.2A 91A | 53A 3.1A
HFm 5C 427 3.8A 8.4A HF 5C 3.5A | 2.0A  115A 33A  19A  11A
HFm 58 49A 45A 10.0A HF 5B 36A 21A 1.2A  3.5A  20A 11A
HFm 5A 6.2A 5.7A 12.5A HF 5A 50A | 29A 17A 48A  28A 16A
HFm 5BM 7.7A 71A 14.8 A HF 5BM 57A  3.3A  19A 55A 32A 18A
HFm 5AM 10.1A 9.7A 20.5A HF 5AM 71A | 41A  24A 6.5A | 3.7A  21A




HF

A § El
BHiIbR &, EX
2 %iﬁ% ’b Z‘ZF@

=l TU

HaESEE REMER
o EAIRE: 2200 I1/min (132 m¥h)
° EEIHE: 245m IWREBRTFHEAIARI N A, EEREFIFA TIEsEhEIE)
FOME , 80A. SARANKFFS K, FIEMEREPEIFRE T A
— FARYIRAE IR,
EREE N
o RAKIE: 7m
° NRIBE: -10°C~+90°C KENELZEERDNE , i ZEVBEEETTESIHXRST.
o INIZRE: +40°C
o ERTIEEID:
-6 bar (HF4%)
-10 bar (HF 6-8-20-30) ik

SERTAF 1 o HFERLMEES

o HEHEa60HZHRZ

LSRR eiRE

EN 60335-1 EN 60034-1
IEC 60335-1 IEC 60034-1
CEI 61-150 CEI2-3

EU REGULATION N. 547/2012

N
PRAE 4T (DNV) EIRAZRIAUE ‘
JRE: 1509001 \1/

KES%L4L: 150 14001



S PEDROUO
4

the spring of life
H 4SS R 50Hz n=2900rpm HS=0m
(\) | 5\0 | 1\00 | 15\0 | 2(\)0 | 2?0 | 30\0 | 35\0 | 490 | 4\50 | 5?0 | 5\\50 | USgpm.
0 50 100 150 200 250 300 350 400 450 Imp. g.p.m.
25 | | | | | | | | | | | | | | | | | | | feel
HF8A - 80
HF30A
HF8B HFZOA‘”\ < - 70
20
HF20B-N
HF6A - 60
kK
x 15 - 50
a HF6B
He
¥
7 - 40
] HF6C
5
(]
£ 10
= HF4 - 30
©
(-]
(]
b
- 20
5
- 10
MEI= 0.40
0
0 200 400 600 800 1000 1200 1400 1600 1800 2000 2200  lmin
[ T T T T T T T T T T T T T T T T T T T T T T T T T T T
0 10 20 30 40 50 60 70 80 90 100 10 120 130 m’h
Flow rate Q -/ZEQ»
Bs In=R (P2) m¥h | 0 12 18 24 30|36 4 48 54 60| 66 72 8 | 96 102 108 120 | 132
E1H =% kW HP  a I/min | 0 200 300 400 500 600 700 800 900 1000 1100 1200 1400 1600 1700 18002000 2200
HFm 4 HF 4 075 1 |IE2 10 93 87 8 7 6 47 3
HFm6C HF6C 1.1 1.5 IE2 119 117 113 107 102/ 92 8 67 5 | 3
HFm6B HF 6B 1.5 2 147 145 14 135 128 12 11 97 82 67 5
IE3
- HF 6A 22 3 18.5/18.1 17.8 172 16.8 16 15 13.8 122 10.5 83 6
- HF 8B 3 4 21,5 21 207 20 19.5/18.8 17.8 16.5 15 13.5 11.2 9
IE3 | H metres
- HF 8A 4 55 245 24 235 23 225 21.8 20.8 19.5 183 168 15 13
- HF 20B-N | 3 4 19 - - 19 188185 18 175 168 16 145 135 11 8
IE3
- HF20A-N| 4 55 215 - | - 21,5213 21 (205198 19 | 18 | 17 16 [133/ 10 8 | 6
- HF 30B 55 75 18 - - - - 18 18 18 18 18 175 17 165 155 15 145 13
IE3
- HF 30A 75 10 23 - | - - - 23 23 23 23 23 225225225 22 215 21 195 18

Q=R8 H=#iE HS=[Ri2

A —1EFBHBERERII(EC-60034-30)

RHERASAE N Z=15 4 ENISO 9906 3BZR.



e At ZF4FE
1 RBE UGS 1SO 228/11253EN
2 TEERE $E% (HF 459AISI 304 )
3 Mg HF 4, HF 6, HF 894
HF 20, HF 305954k
4 EBH5h EN 10088-3 - 1.4104 455N
5 i = & & BE
BE B BHE B HER BE
HF 4 AR-14 @14 mm 8 az NBR
HF 6 FN-18 @18 mm A= B’@% NBR
HF 8, HF 20 FN-20 @20 mm A= B’@% NBR
HF 30 FN-24 @24 mm a= & NBR
6 I = BE
HF 4 6203 ZZ / 6203 ZZ
HF 6 6304 2Z /6204 ZZ
HF 8B, HF20B-N 6206 ZZ-C3 /6205 ZZ
HF8A,HF20A-N  6306ZZ-C3/6206ZZ-C3
HF 30 63072ZZ-C3/6206ZZ-C3
7 ZBN E~3 BE
BHig (230V or 240V) (110vV)
HFm 4 20 pF-450VL 60 uF - 300 VL
HFm 6C 31.5 pF-450 VL 60 pF - 250 VL
HFm 6B 45 pF-450VL 80 uF - 250 VL
8 Hil HFm: A48 230V - 50 Hz LA BT VRIF

HF: =#H4kw LA~ 230/400V - 50 Hz
5.5 ~7.5 kW9 400/690V - 50 Hz
P2=1.1kW L /9 IE2E84]], P2=1.5kW I IE3 (IEC 60034-30)E24]]

- BEER: FR
- BriPER: 1P X4




S PEDROUO
-

the spring of life
R-T#EE
f n
=
BS a& R~ mm kg
EBig = DN1 DN2 a f h hi h2 n n1 w s 1~ 3~
HFm 4 HF 4 2%" | 2% 47 317 240 97 143 198 155 -68 10 14.5 13.2
HFm 6C HF 6C 255 | 24.2
HFm 6B HF 6B 3” 3” 68 an 120 192 240 6 12 26.5 25.5
- HF 6A - 26.7
- HF 8B 445 312 190 - 35.0
- HF 8A 465 o - 40.0
- HF 20B-N 80 455 132 180 - 36.0
- HF 20A-N v v 470 > %0 1 - 41.0
- HF 308 82 585 370 160 210 202 | 212 - 60-9
- HF 30A - 65.2
N
BS BE Bs BE
g 230V 240V 170V =% 230V | 400V 690V | 240V | 415V | 720V
HFm 4 5.9A 5.3A 11.8A HF 4 43A | 25A  14A  40A 23A | 13A
HFm 6C 8.8A 8.0A 17.6 A HF 6C 6.2A  3.6A 21A | 6.0A  35A 20A
HFm 6B 10.8A 9.8A 21.0A HF 6B 8.0A  46A 27A | 74A | 43A 25A
HF 6A 9.0A  5.2A | 3.0A 83A 48A 28A
HF 8B 121A | 720A  41A 11.8A 6.8A | 3.9A
HF 8A 15.8A 9.1A 53A  152A  88A  5.1A
HF 20B-N 121A  7.0A  41A | 11.8A 6.8A 3.9A
HF 20A-N 15.8A 91A | 53A 152A 88A  5.1A
HF 30B 21.3A | 123A  71A  204A 11.8A 6.8A
HF 30A 28.6A  16.5A 9.5A | 27.5A 159A 9.2A




